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18W 18m(1) 18m(2)  TOTAL

1 i s R E = hRHE 306 304 610
2|  HM AT TR#Z=E 290 257 547
3| WK B TR#Z=E 222 218 440
4 #EJ)Il Bl hRHE 159 144 303

HE & hRHE 0
18WCP 18m(1) 18m(2) TOTAL

1| KESE &= hRHE 317 325 642
2| KB =@mfd hRHE 315 303 618
3| R X TR#Z=E 311 305 616

B B%x hRHE 0
30mW 30m (1) 30m(2) TOTAL

1 R #F BEFRKE 284 308 592
2 O & K EAXES 299 285 584
3l K /W & &= EAXES 272 280 552
4 rhim EFE B KE 270 280 550
5| Y& EBEF EAXES 274 271 545
6 ha ER EspipN= 249 278 527
7] # OB ROt BEAXES 278 249 527
8] & ITE & EAXES 278 244 522
9 K 1& TR#Z=E 257 264 521
10 E za8fh TR#Z=E 263 253 516
11 5F Bl R HE BEAXES 254 254 508
12l 5 % F B EEXES 267 237 504
13 W 4 X # EAXES 253 245 498
14 )l 3 HE#& ElEXES 244 251 495
15 Z EA EsFib = 255 239 494
16 £ JII £ & EAXES 220 262 482
17] & H# & & EAXES 228 249 477
18] b # B A EAXES 261 214 475
19 B # B K EAXES 248 219 467
200 F @A & EAXES 244 220 464
21 FafE EEE BIELXFKE 238 222 460
22 FlEES TR#Z=E 218 228 446
23| H8 AEF | BEXFXE 220 221 441
24 7 RE BIEXFKRE 197 239 436
25| WX &= BIEEXFXRE 235 195 430
26 Bl HE BIELXFKE 244 181 425
27 =8 & BIEXFKRE 196 214 410
28 ¥ 15_ EsbipN= 184 199 383
29] WK ¥ BIEEXFXRE 189 192 381
30  K# L% BIEXFKRE 197 171 368
31| Bt E/FF | BERFXE 202 152 354
32) &%+ H E B EAXES 180 160 340
33 E_F 41143 T 28 43 71




30mWCP 30m (1) 30m(2) TOTAL

1| 78 —% | ®wE#%= [ 304 | 303 | 607
CP%&¥ 50m 30m TOTAL

1 Fik XF FEHST 323 351 674
2| HE {#F FEHST 290 338 628
3| /hiE AT FEHST 292 325 617
4 N HEK FEHST 288 299 587
5 ®EF FEHST 254 309 563
6] =H HE FEHST 258 302 560
CPEB¥ 50m 30m TOTAL

1| EA2K EE FEHST 324 349 673
2| EW EA FEHST 311 349 660
3| IV EA FEHST 313 338 651
4 =F B TR&Z=E 304 334 638
5| R ME FEHST 295 328 623
6] HE F—ER TR#Z=E 281 330 611
1l FE E=E FEHST 285 318 603
VELF 50m 30m TOTAL

| KN B K EAXES 278 308 586
2 R B i EEXES 241 308 549
3] A #E H EEXES 196 251 447
4 UK #F EE I 192 237 429
DVEFF 50m 30m TOTAL

| 5 E & A EAXES 278 313 591
2] o K EEXES 258 303 561
3| B K E 2 EAXES 236 323 559
4 E I EAXER EAXES 254 295 549
5 W EF T 215 306 521
6] f H E A EAXES 217 301 518
11 8 HF M ElEXES 224 293 517
8| F H E EAXES 212 279 491
9| B E= R IEE 211 276 487
10  HJc fiEks KRS 191 283 474
11 FE hth PN 174 284 458
12| 1 A % B EAXES 181 271 452
13 Kz# | R TTE 184 265 449
14 A S PN 182 261 443
15| FHH 5hE KRS 173 258 431
16| ## B #if F EAXES 133 292 425
17 ZF & F BEAXES 160 240 400
18] fEll Ez T 122 241 363
19 EHE FiF] EE T 93 256 349
20] BEKX KRS 105 237 342
21 mhit & KRS 97 240 337
22|  tEF shE PN 117 211 328
23 =R B EE T 94 228 322

X% &t PN 0

A& B F ElEXES 0




BRERF 50m 30m TOTAL
1 iH = EspipNE 316 348 664
2 FK = PN 298 333 631
3 i ER REIRZEREXR 302 326 628
4  EE BB XS 294 325 619
5| EAA FR KR EKRE 286 333 619
6] IRIE H— B KE 282 332 614
7 SR il TR#Z=E 297 315 612
8| MHE FEW Kip#RFRE 277 329 606
9] BAX T PN 267 333 600
10{ %7 HE—BR | KIRFFEARKOB 277 322 599
11 FafE ER BEFAKE 270 324 594
12 BKX BF EspipN=a 273 320 593
13  #lix X BEFRKE 274 318 592
14 XE =2 pNEDCPNeI=! 272 317 589
15| Hr thA RIRZEREXR 274 312 586
16| BEE K& KERZFXRE 280 306 586
17 g 8 RIRZEREXR 260 325 585
18]  #EiE A KR FKRE 260 324 584
19| BEKR #$h= FEHSD 280 304 584
200 AZ J|A EsbipN= 265 316 581
21 L% A EsbipN= 270 309 579
22| =k E— FEHST 268 310 578
23] HE BE RERZEFKRE 260 317 577
24| B #Fh EEipNa 260 314 574
25 WE B BEFRKE 248 324 572
26 RE EX EspipNE 255 312 567
27 fEiE M RIRZEREXR 266 292 558
28]  Kith X EspipN= 246 310 556
29 ®HE PN 249 306 555
30 JIldm ER REREFEKRE 244 311 555
31 nEE B8k RIRZFEREXR 239 316 555
32 Xl B ESrip N 247 307 554
33| tEE HEt RIRZERBEXR 253 294 547
34|  EO FX BEFRKE 262 282 544
35| Hig mA RIRZERBEXR 249 293 542
36| Kk BN RERZEFKRE 245 297 542
37 JIFT EH# EsbipN= 242 298 540
38[ /il E EsbipN= 246 290 536
39| FHW X RERZEFERE 254 281 535
40  JIEE BiURE FEHST 254 281 535
41 ez RERZEFERE 235 298 533
42 fH 3 EsbipN= 233 297 530
43| bk FEER RIRZEREXR 255 271 526
44| BE BHih B KE 225 300 525
45| A #E ESrip N 242 278 520
46 B B KERZFXRE 229 290 519
47(  IF L RIRZEREXR 227 290 517
48] lUth SHF KR EKRE 236 281 517
49| fRE = BEFRKE 226 289 515
50| ®hE BE FEHST 218 297 515
51| kAR EE ESrip N 258 257 515
52| tEiE BAM RERZEFKRE 242 270 512
53| A& iFfm KERZEFRE 234 277 511




54| HE {85k TR#Z=E 228 278 506
55 2FX X B KE 211 294 505
56 HA &FE EspipN= 239 264 503
57] HE #X RIRZEREXR 233 266 499
58] B #HEXKER [ KEREFXFE 208 288 496
59| Jk3H J\KER B FEKOB 219 275 494
60 fH[E $RER KirfRFRE 216 274 490
61 #EO = RIREREKROB 195 292 487
62 {ElIl Bk TR#Z=E 194 290 484
63| 8 Fth EsbipN= 208 269 477
64 Ik FEE B K 209 266 475
65| ELt BRE RIRZEREXR 190 283 473
66| TF iEHk KipfRFRE 215 253 468
67| HEZ f2T] B KE 199 249 448
68| FRIE {EEE KERZFEXRE 174 269 443
69| Bl X KipfRFRE 182 245 427
00 FXK B4R KIRFBEXR 161 261 422
71| M JZ2n RIRZERBEXR 140 226 366
72| &S sk pNE N 147 217 364
73| MG HE KRERZEFER 118 244 362
74| deld Fost EsbipN= 183 157 340
75| K3 KER RIRZERBEXR 106 203 309
76| Bl £t RIRZERBEXR 54 242 296
77 {k£¥ &hBH RIRZEREXR 36 171 207
78] ¥H Bt KERZEFRE 49 106 155

=H = BEFRKE 0

g H—BF | RIREZEEFEXE 0

ZH FX KipfRFRE 0

AR BE— TR#Z=E 0

AR L KER#ZFXRE 0

WE ®MX BEFRKE 0

XE FH KRERZEIEA 0

mH B KERZFXRE 0

BHE BE BEFRKE 0
BELF 50m 30m TOTAL

1| ZH [[EF EspipN= 293 332 625
2| ZEH TRF BEFAKE 280 302 582
3| BF HH RIRZEREXR 265 314 579
4 FEH HIF EEipNea 273 300 573
5| RHF HITE RIRZEREXR 261 300 561
6] LLiF bk EsbipN= 247 310 557
1l FE BX pN =N 253 301 554
8| R B ESrip N 238 300 538
9| #O EEF | BIEXFXE 221 308 529
10| /a0 &8 ESLicp = 225 287 512
11| KAR vé&EH | KIRFEBRK 212 298 510
12 BR #hid PN 214 275 489
13| MHE & BIEXFKRE 196 284 480
14 BB £F RIRZEREXR 169 267 436
15 R XD BIELXFKE 181 240 421
16 BEREIOH BIELXFKE 174 212 386
17] K& ki KR FRE 153 220 373
18] WX FBF BIEXFKRE 153 218 371




=T

30mW
1 52 B X E 301 305 606
2l #H 53 BE 205 239 444
REBF
1 AN KIREZEKX 251 316 567
2| FEE KEH KEREZEX 252 305 557
3| EXE MR KIREZEKX 191 287 478
4 W S KIREZEKX 156 249 405
GifZ
1 B K= 1908 (AF 664-=H 625- E¥F 619)
2| KIREEFXZE 1856 (;57K 631-BHA 619-4tH 606)
PN 1799 ( [E 628-HFr 586- L& 585)
4 FEHSD 1774 (SR 612-3%A 584 -5 578)
5| BEBXES 1738 (BkJE 591K 586-F 4T 561)
6| KIR=FEEXOB 1675 (AJ¥F 599- KLt 589-YgO 487)
7| #BIEEFKRE 1430 (FxO 529-;thE 480- R 421)
8 KRS 1375 (At 474-F3E 458-EH 443)
9 EPEKR 819 ( %5 306-F& 276-IU& 237)
7>
[ KIREZX | 1602 (/N#k 567-%gH 557-FEE 478)




